Dﬂnamfcs Wilh @aku/u; / ) /4f75W€fs“

N ov= gE-6t+2z

g  dx = gEP-6t +2
de

att- 3t +2F + ¢

JC =
E=0 2=0
O = O-0+0 +C
) =

oc = abt—3t°+at

=)
o = a-3+2
- = +1 £ [ m Fom a(;‘gm .

b) a = gl_V = &i}-&z'é
dt

(3
1]
S

a = ax()-b
a = 96-6
a = 90 m/s®

2) V= 3t'-auk + 21

dt
b) v=dx = 3t=2ut +2]
ar
x= E-iattr2it + ¢
ezt bB=d
0= G040 +£
0 =C
s = E3-jat’rart
c) At el v=0 gz Bt 20t 45
3.0 = (T-R64T
8 ="k -1 E=T )

AF  resh afler | Sec  gad 7 secs |



x 2 §= 12 +72]
x = 4+ /OM
=7 :
x= 7-/2(7*) + 21(7)
= = 343 - 538 + 147
X = —9€ m

Distane  befwen  fhem

i$ [08 m
3) v oiat -3t*
a) dx = lat-3t*
dt
x= bt -t’+¢
E=l x=0
0 <= 6-1 +C
=P oL
g = B ol
b) a= dv = 12-6t
dt
) V= ab(t-5)
V= at*-iat
o) at*-lat ¢ o
E"-ak 2 0
ELb=t) < &
ebhar @) 2 (9-) > (Y oR
t vo aend E-6<0
gl <k
N o
b) SPH' info 2 r%;% o to
6 to

C_) x (+) = (—)

t <o
Lo

and E-670
tre
TmPpsSIBLE

& secs
Q secs

(bravels <—)
( tawels -—.7)



conh/\uf(ﬂ
dx = gE%- jat
de
o = 2P -ekt® 3
)
t=p €= O (a-"“’“j P’m 5fa_rf pos:‘ﬁ'on ... nof C ey ffam 0:12‘3;4)
D& H—~Bep
0=c
) &——&3_ 6&2
3
t=q z= Zx9 = buq”
3
x= 486 — 486
x = O
t=6 z = _2§><63~ bt
x = By — 26
50 joume O fo b Ses  sess  parkck movf':zj
T2m o Lt away from start
ﬂren fnm 6 to Q@ Secs i fmvels  fo rgﬁn[‘ P G/cvub/})zj
back on  ikelf . . _
% LL': i f}' 1’-’(60 x*e/wnad’ /b j)Lar’/[ /)051"/(1’,{1 .
o Total listence /chzve//ed in the
interval o ¢lkeq
- ofobsecs
I ™ Tie .
: 7; L6 b e
fef,l’ ffjh}'

o /l]CALM



5) v =bE- 6t + 7 - dx
dt

&) G Ltom®e T ¢ 2
L"—'O x:S
5= 0-0+0 4+ C
Be=Ef
rome -3 T 25
L=2
x = l6—12 +l¢ +5
x.o= 23 m
- b) a=dv = [at’-6
QL
t=2 |
a = 12(q) -6
i = 0a m}gm
S F = Mma  when E=3
F= 0-8(102)
F = 8l-6N

dk
E=1
Q= RKRO+0b
a= Qb ms
b V=dx = a8EF# StC+3E
de . 5
x = b +E7+C
(::O ]
| = 0+0+C
| = C
s 2 = ts‘i’ ts‘f“ |
ohan %= 7 x= 32+8+1

x = im

Ak = & 8/<3



